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BIfER S FISE108 248 BAZH S b1 — B
Bl OB & ® 8 | GR | HDCP | NET | R B £ ® | o | GR | HDCP | NET
BH EA AR 4 a0 12 38| 31 mH =i 4 4 60 380
£E BR AL 43 | 43| 8.4 346| 32 |hE = 49 a9 108 3.2
3 T EX 48 48 | 13.2 | 34.8 | 33 MY MsRE 43 43 | 4.8 | 38.2
4 l-.%.'m BH @ a2 12 38| 3 ;um = 49| 49| 108 382
5 BB =—ip 41 : 41 6.0 350]| 35 'ib—c g2 | 4 9 108 3.2
6 WE #m 46| 46 10.8 35.2| 36 \mE BE | 48 48j 9.6 | 38.4
7 wm mM w0 0| a8 2| 3 Kk E— 48| 48 96 384
8 mE B= “ M| 84 36| 3 m mF 51 51| 12.0 | 39.0
9 L WE 49: 9 132 38| 39 ms mz 55| 45 | 6.0 39.0
0 H/F & 4si 48 120 36.0| 40 zmE @E 49 49 9.6 394
1 Bk BE 46 | 46| 9.6 36.4| 41 EE EE 49 49 9.6 394
12 |tift BT % 46 96 364| 42 TE mE 48| 48| 8.4 396
13 4t s 5 5 84| 366| 43 W mm 53| 53| 13.2 | 39.8
14 o3 A 51 51 144 366| 44 mEs xoF| 57 57 16.8 | 40.2
15 EE A% 51 51| 144 36.6| 45 R EE | 5 54 | 13.2 | 40.8
16 BG & | 50 50 132 68| 46 W %7 % 8| 7.2 408
17 A0 4 44 12 36.8| 47 WE Hc 54 54 132 40.8
18 it E— 19 9 120 30| 48 |2 mrt 53 53| 12.0 | 41.0
19 H%& Bz | 49; 9 120 30| 49 &m B 47 41| 60 4.0
20 F5 % 43 @ 60 30| 50 mE B | 58 | 58 | 16.8 | 41.2
2 KE POER 9 48 108 32| 51 wm E=FR | 52 52| 10.8 | 41.2
2 'BEX 5<% | 48 B 108 32| 52 58 == 51 | 51| 8.4 | 42.6
23 AH H2 48! 18 10.8 | 37.2| 53 | EE 53 53 | 0.6 43.4
2 KX B 58| 58 204 36| 54 |mE 53 53| 9.6 43.4
25 ®E A 8 52| 144 31.6| 55 %k 51 51| 7.2 | 43.8
26 KA 45 5 72 38| 56 dH R 61 | 61| 168 44.2
21 EH 18 5 5 1.2 38| 57 @E By 64 64 19.2  44.8
28 HL mE ‘ 5 5 72| w8 s mm oEm 61 61| 216 45.4
29 ®mL WE |3 39| 1.2 31.8| 59 My mE 61 | 61 | 15.6 454
0 BT A “ 44‘ 6.0 30| 60 =m =T 62 62 | 13.2 | 48.8
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